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What is the purpose of the Execute 

stage in the Fetch-Decode-Execute 

cycle 

What is a binary logic circuit 

expression 

What happens when there is a carry 

during binary addition 

If an item being compared in an 

insertion sort algorithm is greater 

than the previous item, what 

happens 

What is the Internet What is the decimal representation 

of the 8-bit binary number 11110000 
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What is the purpose of the Execute 

stage in the Fetch-Decode-Execute 

cycle 

 

To carry out the operation specified 

by the decoded instruction. 

What is a binary logic circuit 

expression 

 

A binary logic circuit expression is a 

shorthand way of representing a 

circuit's operation using logical 

operators and variables. 

What happens when there is a carry 

during binary addition 

 

The carry is placed as the first 

number. 

If an item being compared in an 

insertion sort algorithm is greater 

than the previous item, what 

happens 

 

It is inserted back into its same 

position. 

What is the Internet 

 

The Internet is the biggest WAN in 

the world, a massive network of 

networks. 

What is the decimal representation 

of the 8-bit binary number 11110000 

 

The decimal representation of the 8-

bit binary number 11110000 is 240. 

 


